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1. Pemute HepaBeHCTBO % > SXI 3.

x> 3x+3
2. Permmte HEPaBEHCTBO — < 1

3. Pemmre Hepasenctso (V3 —1,5)(3 —2x) > 0.

4. Pernte HepaBeHCTBO (x —3)(2x+3) < —7.
lx—4

5 2

6. Permte HepaBeHCTBO (3x—2)(x+4) > —11.

X2 1lx—4
7. Pemte HEpaBEHCTBO 5 > s

8. Penmte HepaBeHcTBO (x—1)(3x—5) <1

5. Pemite HEpaBEHCTBO

9. Pemmte HEPaBEHCTBO x°(—x° — 64) < 64(—x* — 64).

—14
10. P - <0.
eITe HEPaBEHCTBO 215
11. Pemute HepaBEeHCTBO —10 > 0.
M p ( )2 5 -
12. Pemmte HEepaBEeHCTBO (x — ) <V11 L(x—17).

13. Pente HepaBeHCTBO (4x —6)2 > (6x —4)2.
14. Pemmte HepaBeHCTBO 2x° — 3x > 0.
15. Pemmte HepaBeHcTBO (X —3)* < V/5(x—3).

16. Peumnte HepaBeHCTBO (5x —9)% > (9x —5)?



